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Categ

Select function

Drink code

Drink number

Select preorder

Card number

Balance

Preorder code

Number of DV
M

1
2
3
<0 or 3<
1<=and <=20

<1 or 20<

0< and <100 with stock

<=0 or 100<=

No stock and find another DVM with stock

No stock and no DVM with stock

yes
no
Valid

Invalid
Enough balance
Less balance
Valid
Invalid
1
2

2<

single
single
property drink
property code
error
if drink | property order
if drink | error
if order | property payment

if order | error

if order | property preorder

if order | error

if preorder | property payment
if preorder | single
if payment | property balance
if payment | error
if balance
if balance | error

If code

If code | error

Partition Test (T5)
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Total: 5*2*4*2*2*2*2*
3 =1,920

Single Constraint & A|: 580
Error Constraint M2 A|: 23

Property Constraint & A|: 16



Category Partition Test (T5)

root@8ed485adc492: /home/dev/build# ./MyApp.out
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Category Partition Test (T6)

One vm
Two vms
VMs
At least three vms

01-07
08-14
15-20
IDs 01-02
Out of all range
Not in vm'’s range
Timeout 30s
0 <
0
0
<0

Stock

Valid

Invalid

price <

Balance < price
<0

accept

Request decline
Invalid
Timeout 10s

Valid

Code Check Wrong vm
expired
Invalid

X Nearest
Guide

invalid

[property OneVM]
[property TwoVMs]

[property ThreeVMs]

[if OneVM][property localVM]

[if TwoVMs]

[if ThreeVMs]

[if ThreeVMs]
[single]
[error]
[single]

[if localVM][property validStock]
[if localVM]
[if localVM][property needRemote]

[error]

[if validStock || acceptprepayment][property validCard]

[error]

[if validCard][property AuthenticatedPay]
[single]
[error]

[if validRemoteStock][property acceptprepayment]

[single]
[error]
[single]

[if acceptprepayment && AuthenticatedPay]
[single]
[single]
[error]

[if validcodecheck]

[error]

Total: 3*7*4*2*3*4*4*
2 =16,128

Single Constraint & A|:
3,081

Error Constraint & A|: 110

Property Constraint & A|: 21



Category Partition Test (T6

4 Intel 8700 Linux

root@4abefabbe7cc: /home/dev/build# echo 1 ; ./MyApp.out
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? Smart Vending Machine System Starting...

root@4abefabbe7cc: /home/dev/build# echo 2 ; ./MyApp.out
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Brute Force Test (15)
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Brute Force Test (15)

PASS
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PASS
FAIL
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FAIL
FAIL
FAIL
FAIL
INVALID
INVALID
INVALID
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PASS: 8
INVALID: 16
TOTAL: 30
PASS/VALID: 8/14

BFT Pass Percentage =
44.44%



Brute Force Test (T6)
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Provide
Drink

Card
System

DVMs
location

1 2
1-3
1-4
2-1
2-2
2-3
2-4
2=
3-1
3-2
3-3
3-4
3-5
3-6
3-7
3-8

4-1

Nl
5-2
5-3
6-1
6-2

Brute Force Test (T6)
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PASS: 2

INVALID: O
TOTAL: 23
PASS/VALID: 2/23

BFT Pass Percentage
= 8.69%




Issue Tracking

e Github Issue
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BF(3-8) | Brute Force Test | | Test Fail
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